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Refresher on Distance/std
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For a vector 7, let U = what is the 2-norm of u?

~ |\:3 \ B \I;L std(x) = == (igj/n)ll




7
Cauchy-Schwartz Inequality
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~ Cauchy-Schwartz Inequality
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Angles &b o3

-~ oD D
® - arcws(‘a "‘”3 <, o> (lalllilees
( )

| 'f’““m \3V= 1= 1
ol M@i @b Yoty (5O = abd
L(ay)
"/ i o NI AL Z/Z)
nfs \s GO~ -/ (J&\)@;g ): L(E/E) ’v"G,‘S 20

: o\qgs%g\/ OW\%\LS &w(cuma o AL Sign of «'ai_‘); 5_\
S LED) 9P L Wby swtnmenal wlb
LN Q,Q Z (&‘)C7 O, + o <2/g>:\\’3¢\\18\\ o\(b\%w

- = -
L= 19\ o>z bl | auti-aligecd
= ¢ Liap)\g’ e T

:: —\6’\ \—\;]



—_

Angles
/ CZ\,E ) ¢ qo° (P)Z\ acnke CW\OW &> &b N >O

L) > A, dove agfle Ly ZebdLO



Angles, examples
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Angles, examples
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Angles, examples

Veterans Memorial Academy Golden Globe Super Bowl
Day ‘Day  Awards Awards

Veterans Day 0 60.6 85.7 87.0 (87.7)
Memorial Day 60.6 0 85.6 87.5 87.5
Academy A. 85.7  85.6 0 85.7
Golden Globe A. 87.0 87.5 H8.7 0 86.0
Super Bowl 87.7 87.5 86.1 86.0 0
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Can the angle be more than 90 degrees!?



Angles .
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Correlation coefficient
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Correlation coefficient
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Complexity



